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Al TREOBBOEILHOKRES TREDHBESSLHDOKRES TREOBBOEILHOKRES TREOHESILNDKES
=] = T AN 4 UE D\ | = = U2 A\ - = U D\ = =
1 100kN/mM#%#B x5 1.00| 0.00 ~ 0.68 111.47 [3mZEEZ S -~ — — —| 100kN/m%#8%%| 1.00 [1451 ~ 19.18 111.47 [3mZEEZ S -~ - — —
zhs 1.00| 068 ~ 7.36 100.00 | Zh st | 000 ~ 736 | 2.24 9.84 zh s 1.00 | 5.00 ~ 14.51 100.00 | Zh L5t | 500 ~ 19.18 | 2.24 9.84
2 100kN/mM#%#B x5 1.00| 0.00 ~ 0.65 110.96 [3m%EEZ 5 -~ — — —| 100kN/m%#8%%| 1.00 (1429 ~ 1850 110.96 [3m%EEZ 5 -~ - — —
zhs 1.00]| 065 ~ 7.34 100.00 | ZhList | 000 ~ 7.34| 225 9.89 zh s 1.00 | 5.00 ~ 1429 100.00 | Zh st | 5.00 ~ 1850 | 2.25 9.89
3 100kN/mM#%#B x5 1.00| 000 ~ 1.17 119.92 [3mZEEZ 5 -~ — — —| 100kN/m%#8%%| 1.00 [13.67 ~ 21.82 119.92 [3mZEEZ 5 -~ - — —
zhs 1.00| 117 ~ 7.85 100.00 | Zh st | 000 ~ 7.85| 261 11.46 zhs 1.00 | 5.00 ~ 13.67 100.00 | ZhList | 5.00 ~ 21.82 | 2.61 11.46
4 100kN/mM#%#B x5 1.00| 0.00 ~ 0.00 100.07 [3m%ZEZ 5 -~ — — —| 100kN/m%#8%%| 1.00 [13.36 ~ 13.38 100.07 [3m%ZEZ 5 -~ - — —
zh s 1.00| 0.00 ~ 6.69 100.00 | ZhList | 000 ~ 6.69 | 245 10.79 zhs 1.00| 500 ~ 13.36 100.00 | Zh st | 500 ~ 13.38 | 245 10.79
100kN/mM#%#B x5 ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM%#BZ % ~ 3ImZHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImZHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImzHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/mM%#B 2% ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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